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1) .05N+.10D=1.10, N+D=14

2) 5N+l0D= 110
-5N - 5D= -70

5D= 40, D = 8

3) N + (8) = 14, N = 6

.05(6) + .10(8) = 1.10

.30 + .80 = 1.10 ,/

4) .01P + .05N = .20, P + N = 8
I

5) P + 5N = 20
-5P - 5N =-40

-4P =-20, P =5

6) (5) + N = 8, N = 3
.01(5) + .05(3) = .20
.05 + .15 = .20 ,/
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7) (-4X -4) = 2X + 2
-6X =6, X =-1

8) Y=2(-1)+2, Y=O

9) on the graph

10) (0) = -3(0) + b, b = 0
Y = -3X or 3X + Y = 0

11) Y=1/3X orX-3Y=0

12) T = 5M + 100

13) T = 5(15) + 100 = 175°C

14) T = 10M + 100, T = 10(15) + 100 = 250°C

15) -122 + (-5)2 = -144 + 25 = -119

16) 2nd

17) yes.,

18) no

19) 625

20) 15

17A

1) N, N + 1, N + 2

2) N+(N+l)+(N+2)+4=4(N+l)

3) 3N + 7 = 4N + 4
7 - 4 = 4N - 3N, 3 = N
3,4,5

4) 3 + (4) + (5) + 4 = 4(4)
16=16,/

5) N, N + 2, N + 4

6) N + (N + 2) = (N + 4) + 4

7) 2N + 2 = N + 8, I

N = 6 6,8,10

8) (6) + (8) = (10) + (4)
14 = 14,/

9) N, N + 1, N + 2

10) 5(N+l)=3[N+(N+2)]+2

11) 5N + 5 = 3 [2N + 2] + 2
5N +,5 = 6N + 6 + 2,
5 -8 = N, N =-3
-3, -2,-1

12) 5(-2) =3 [(-3) + (-1)] + 2
-10 = -10,/

13) N, N + 2, N + 4

14) N+(N+4)=3(N+2)+3

15) 2N+4=3N+6+3
4 -9 = N, N =-5
-5, -3,-1

16) (-5) + (-1) = 3(-3) + 3
-6=-6,/

17B 17C

1)N,N+2,N+4 1) N, N + 2, N + 4

2) 5(N + 4) - 4N = 4(N + 2)

3) 5N + 20 - 4N = 4N + 8
N + 20 = 4N + 8
12 =3N, N=4
4,6,8

2) 3(N + 4) = 2(N + N + 2) + 2

3) 3N + 12 = 2(2N + 2) + 2
3N+ 12=4N+4+2
12-6=4N-3N, N=6
6,8,10 4) N, N + 1, N + 2

5) 6(N + 1) + 4N = 9(N + 2) - 4

6) 6N + 6 + 4N = 9N + 18 - 4
10N + 6 = 9N + 14, N = 8
8,9,10

4) 3(10) = 2(6 + 8) + 2
30 = 3D ,/

5) N, N + 1, N + 2

6) N + (N + 2) = 20(N + 1)

7) .05N + .10D = .80,
5N + 100 = 80
-5N - 50 = -55

50 = 25,
N+(5)=11
N=6

D=5
.05(6) + .10(5) = .80
.30 + .50 = .80 ,/

N+ D = 11

7) 2N + 2 = 20N + 20
-18 = 18N, N = -1
-1,0,1

8) Y > 4X - 4
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8) (-1) +Jl) =20(0)
0=0

9) see graph

9) N, N + 1, N + 2

10) 5(N) + 2(N + 1) = 6(N + 2) 10) yes

11) 5N + 2N + 2 = 6N + 12
7N+2=6N+12, N=lO
10,11,12

11) 4Y + X = 11 4Y+(-1)=11
-4Y+6X--18 4Y =12

7X= -7
X= -1 Y=3

12) 4Y+X=11 => Y=·1/4X+11/4
(1) = -1/4 (0) + b, b = 1
Y=-1/4X+l or X+4Y=4

13) 21

14) 4(N+2)=23+N

15) 4N+8=23+N, 3N=15
N =5

16) [2(5-3)+1]+5=(4+1)+5=1
(J)

17) 1/2 + 2/3 = 3/6 + 4/6 = 7/6 = 11/6 0s:
18) .75 x 250 = 187.5 s

:J
V>

19) 180 - 16A = 1000, -820 = 16A ~
A=-51.25 OJm

20) 2 x 2 x 2 x 2 x 2 x 3 ~
-..j

0

12) 5(10) +2(11) =6(12)
72 = 72 ,/

13) N, N + 2, N + 4

14) N+(N+4)=3(N+2)+19

15) 2N+4=3N+6+19
4 - 25 = N, N = -21
-21, -19, -17

16) (-21) + (-17) = 3(-19) + 19
-38 = -38 ,/
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1) N, N + 2, N + 4

2) 4(N + 4) + 1 = 3N + 2(N + 2)

3) 4N + 16 + 1 = 3N + 2N + 4
17-4=5N-4N, N=13
13,15,17

4) N, N + 1, N + 2

5) 3N-5(N+1)=-1

6) 3N - 5N - 5 = -1
-2N =4, N =-2
-2, -1, 0

7) .05N+.100=1.10,
5N+l00= 110

-5N - 50 = -75
50 = 35,

N + (7) = 15
N =8

N + D = 15

D=7
.05(8) + .10(7) = 1.10
.40 + .70 = 1.10 V

8) Y>X - 2

9) see graph

10) yes

11) 5Y + 6X = -19
-5Y - 3X - 22

3X = 3
X = 1

5Y + 6(1) = -19
5Y =-25

Y=-5

12) 5Y+6X=-19 => Y=-6/5X-19/5
(1)oo5/6(-4)+b, b=13/3
y = 5/6 X + 1313 or 5X - 6Y = -26

13) 24

14) 2N-6+8N=4

15) 10N=10, N=l

16) 3(1)-(1)2+13-4(1)=3-1 +13-4=
2 +9= 11

17) 1/6 + 3/4 = 2/12 + 9/12 = 11/12

18) .13x180=23.4

19) 2A=36, A=18

20) 3 x 3 x 3 x 5

17E

1) N, N + 2, N + 4

2) 5N +'3(N + 4) = 7(N + 2) + 10

3) 5N + 3N + 12 = 7N + 14 + 10
8N - 7N = 24 - 12, N = 12
12,14,16

4) N/ N + 1, N + 2

5) 7(N + 2) - 5(N + 1) = 4(N) t_l

6) 7N + 14 - 5N - 5 = 4N + 1
2N + 9 = 4N + 1
8 = 2N N =4
4,5,6 '

7) .10D +.250= 1.00,
10D + 250 = 100

-10D - 100 = -70
150 = 30,

,0 + (2) = 7
0=5

0+0=7

0=2
.10(5) + .25(2) = 1.00
.50 + .50 = 1.00 v

8) Y 2: -2X + 4

9) see graph

10) yes

11) Y + X = 0 => Y = -X
(-X)-3X=-4, -4X=-4'
X=l Y+(l)=O
Y=-l

12) Y - 3X = - 4 ~ Y = 3X - 4
(-2) = 3(2) + b, b =-8
Y = 3X - 8 or 3X - Y = 8

13) 15,30,45,60,75
25. 50, 75 LCM = 75

14) 2[1 +(-8)]=18-2N

15) 2[-7]-18=-2N
-14-18=-2N
-32 = -2N, N = 16

16) 3(16) - 5 + 6(16) + (10 - 6) =
48-5+96+4=143

17) 2/7 -1/14 = 4114 -1/14 = 3114

18) 1.20xl00=120

19) 5X+15=45
5X =30, , X =6

20) 2 x 3 x 17

18A 18B

1) 225 1) 625

2) ±13 2) 2 x 2 x 2 = 8

3) 64 3) 81

4) ± 10 4)-7x7 x 7 = 343

5) 256 5) 289

6) ± 12 6) ± 9

7) 45+2 = 47 7) 53+6 = 59

8) 84+7 =811 8) 64+2 = 66

9) 87-3 = 84 9) 1813-9 = 184

10) 38+4 =312 10) 48+5 = 413

11) B2+3+5 = B10 11) 16

12) C1+3D5+4+2= C4011 12) Cl+2+3 = C6

13) 8x+Y 13) E5f3+4+2 = E5F9

14) M10X-3X= M7X 14) B6+7C1+3 = B13C4

(f)
0

15) 89+10-3 = 816 15) y10+5-3 = y12 S-
o'
:::J
(f)..•

16) X5Y-2Y = X3Y 16) A8X-3X= A5X .....
0
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